o, [mb]

Ratio to ALICE

900 GeV pp Soft QCD
T I T I I T I T I T I T I T I T (2}
25 |- ! l—%
= Cross section(Mx < 200 Ge\f) 413
B s
| = ALICE N
| --0-- Pythia 6.428 345 |~
| - Pythia 6.428 346 _3
20 —A— Pythia 6.428 370 o
B Pythia 6.428 default e
- —a— Pythia 8.301 default His
15 — —
- ey
™
- =
™
- _|©
o
B = ok
10 W e N e e e e A I e e I S -_>§
| = _| @
e
= G
[
—
B 19
5 — —a
(@]
N | | , | | | | , | | | [ ] =
:l T T T T | T T T T |:
2 B =2
1 - 1
- & _
0.5 —0.5
| " " | " 1 " 1 " 1 " 1 " |
899.5 900 900.5

sgrt{s} [GeV]



	Contents
	Page 1


